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In [12]: N = 14
while N = yhlen-32:
¥h = df[['S'.' L, NKS ', TNKE ', "smas ', , ‘momentum' J][N:N+30] # SEOHETr —ROEHFENERICT S,
yh = df[['Hy']][N:N+30]
Xh = sm.add_constant(xh) # THE (YA EHEE T ERFELEROETINAL 5IZHE
model = sm.OLS(yh,Xh) # @N_FEZICLSEF IS
result = model.fit() # EOESITOREEERT
result.summary() # LOBEDIT—F X2 FHBESHILST. FT5HE AL,
coef = result.params
a0 = coef[0];al = coef[1];a2 = coef[2];a3 = coef([3];a4 = coef[4];a5 = coef[5]
a6 = coef[6];aT = coef[7];a8 = coef[B];a9 = coef[9];all = coef[10]
H_p[N+32] = a0+al*df['S'][N+30]+a2*df['H'][N+30]+ a3*df['L'][N+30]+ad*df['C'J[N+30]+a5*df['V' J[N+30]+\
a6*df[ 'NKS'J[N+30]+a7*df[ 'NKC'J[N+30]+a8"df['sma5 J[N+30]+a9*df[ 'rsi'][N+30]+al0*df[ 'momentum'][N+30]
H_p_keep[N+32] = H_p[N+32]
H_pn[N+32] = (H_p[N+32]+df[ 'H'][30])/2
H_pn_keep[N+32] = H_pn[N+32]
difH_p[N+32] = H_p[N+32]-df[ 'H'][N+32]
difH_p_keep[N+32] = difH_p[N+32]
difH_pn[N+32] = H_pn[N+32]-df['H'][N+32]
difH_pn_keep[N+32] = difH_pn[N+32]
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